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QUESTION 1

Click the Exhibit button. 

You create a new CIFS share named projectX. Users are unable to see the new share. However, they can see and
access the existing share named public. 

Referring to the exhibit, what should you do to allow users to access the new projectX share? 

A. Move the projectX volume to aggr1_01. 

B. Modify the projectX share permissions to allow access. 

C. Create an export policy rule to allow access. 

D. Update the load sharing mirror set. 

Correct Answer: C 

 

QUESTION 2

An administrator wants to perform an Automated Nondisruptive Upgrade (ANDU) on a 6-node cluster. While monitoring
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the upgrade, what does the administrator observe? 

A. The new image installs on all nodes in the cluster and then reboots each HA pair in sequence. 

B. The new image installs and reboots on one node of each HA pair and then repeats on the partner. 

C. The new image installs one node at a time and reboots each node one at a time. 

D. The new image installs on all nodes and then reboots one node at a time. 

Correct Answer: B 

Reference: https://library.netapp.com/ecmdocs/ECMP1636041/html/GUID-
C0C171AD-5A9D-47DD-96BAB009E76542ED.html 

 

QUESTION 3

Click the Exhibit button. 

A customer noticed that data in volume Snapshot copies was using 200% of the total space allocated to the Snapshot
reserve. The configured value of the Snapshot reserve is 10%. The customer wants to maintain the current number of
Snapshot copies consuming below 100% of the Snapshot reserve. 

Referring to the exhibit, which action would satisfy the customer\\'s requirement? 

A. Increase the volume size by 50 GB. 

B. Set the volume\\'s fractional reserve to 0. 

C. Move the Snapshot copies to another volume. 

D. Set the Snapshot reserve to 25%. 

Correct Answer: D 

 

QUESTION 4

What are two valid storage layouts when using the SnapCenter Plug-in for Microsoft SQL Server? (Choose two.) 

A. storing multiple LUNs in a volume 

B. storing a single database per LUN 

C. storing multiple databases per LUN 

D. storing database files on a LUN that contains the log directory 
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Correct Answer: AB 

Reference: https://docs.netapp.com/ocsc-43/index.jsp?topic=%2Fcom.netapp.doc.ocsc-dpg-mssql% 2FGUID-
F15BFFC5-5DB5-4D56-AD52-ADD65331EED9.html 

 

QUESTION 5

You have two ONTAP 9.3 clusters, and you want to establish new SnapMirror relationships between them. Which two
statements are true in this scenario? (Choose two.) 

A. The source and destination SVM names must match. 

B. The language settings on the source and destination volumes must match. 

C. The source cluster must be running a newer version of ONTAP than the destination cluster. 

D. The destination volume must be the same size as or larger than the source volume. 

Correct Answer: CD 
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